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Al 16000000100000000000,100000 NalOO PL
00000 1000000000000000000000000
0 (100310000)

#include <stdio.h>
#include <stdlib.h>

int main(void)
{

int hid,uke,k=0,PL_1,PL_2,PL_3,sum_5=0,sum_6=0,sum_7=0;
double a,b,c,d,e,f,g,h,p,t,sum_3=0,sum_4=0;

char hiduke[12] ,NAT_1[4],NAI_2[4],kiatu[4] ,kionn[4],*endptr;
long count_1,count_2,count_3,count_4,sum_1=0,sum_2=0;

FILE *fpin=fopen("20091031_2nais_P_T_3PLs.dat","r"),*fpout;

if (fpin==NULL ) {
printf("Can not open a file\n");
return -1;

}

printf("File is opened\n");

if ((fpout=fopen("1031gokei.dat","w"))==NULL) {
fclose(fpin);
printf ("File is not maked\n");

return -1;

while(

(fscanf (fpin,"%s %s %s %s hs %d %d
%d" ,hiduke,NAI_1,NAI_2,kiatu,kionn,&PL_1,&PL_2,&PL_3) !=EQF))
{

if (k<600) {

count_1=(int)strtoul (NAI_1,&endptr,16);



count_2=(int)strtoul (NAI_2,&endptr,16);
count_3=(int)strtoul (kiatu,&endptr,16);
count_4=(int)strtoul (kionn,&endptr,16) ;

sscanf (hiduke, "%06d4%06d4" ,&hid, &uke) ;

a=count_3/204.6;
b=count_4/204.6;
c=b/16;

p=(a+0.475) x222.22;
t=c*100;

sum_1+=count_1;
sum_2+=count_2;
sum_3+=p;
sum_4+=t;
sum_5+=PL_1;
sum_6+=PL_2;
sum_7+=PL_3;

k++;

else {

d=sum_3/600;
e=sum_4/600;

sscanf (hiduke, "%064%064" ,&hid, &uke) ;

printf("%06d %1d %1d %1f %1f %d %d

%d\n" ,uke,sum_1,sum_2,d,e,sum_5,sum_6,sum_7) ;

fprintf (fpout,"%06d %ld %1ld %1f %1f %d %d

%d\n" ,uke,sum_1,sum_2,d,e,sum_5,sum_6,sum_7) ;

sum_1=sum_2=sum_3=sum_4=sum_5=sum_6=sum_7=0;
k=0;

count_1=(int)strtoul (NAI_1,&endptr,16);
count_2=(int)strtoul (NAI_2,&endptr,16);
count_3=(int)strtoul (kiatu,&endptr,16);
count_4=(int)strtoul (kionn,&endptr,16);



a=count_3/204.6;
b=count_4/204.6;
c=b/16;
p=(a+0.475)x222.22;
t=c*100;

sum_1+=count_1;
sum_2+=count_2;
sum_3+=p;
sum_4+=t;
sum_5+=PL_1;
sum_6+=PL_2;
sum_7+=PL_3;

k++

fclose(fpin);
fclose(fpout) ;

return O;

}

A2 Nal0OOOOOOOOOOOOO0O0000000000 (Nalld
0o)

void data_plot_tsuchiya_NaIl(TString sdatafile) {
ifstream data(sdatafile.Data());
if ( data.bad() ) {
cerr << "No such a data file : " << endl;
return;
}
const int ndim = 86400;
double hms[ndim], nail[ndim], nai2[ndim], press[ndim], temp[ndim], pll[ndim],
pl2[ndim], pl3[ndim];
for ( int i = 0; i < ndim; i++ ) {
hms[i] = naill[i] = nai2[i] = press[i] = temp[i] = pl1[i] = pl2[i] = pl3[i] =-1;



// read data from a data file //

int n = 0;

while (1) {
data >> hms[n] >> naill[n] >> nai2[n] >> press[n] >> temp[n] >> pli[n] >> pl2[n] >> pl3[i
if ( data.eof() ) break;

n++;
}
data.close();
cout << "# of data : " << n << endl;

// ROOT routines //

Double_t xmin, xmax;

xmin = 0; xmax = 86400;

THIF xhpres = new TH1F("hpres", "NaIl", n, xmin, xmax);

for (Int_t i = 0; i < n; i++ ) {
hpres->SetBinContent (i+1, nailli]);

cout << i << " " << nail[i] << endl;
}
gRO0OT->SetStyle("Plain");
TCanvas *cdata = new TCanvas("cdata", "", 50, 50, 600, 300);

hpres->SetXTitle("Time");
hpres->SetYTitle("NaIl (ch)");

hpres->GetXaxis()->SetTimeDisplay(1);
hpres->GetXaxis () ->SetTimeFormat ("%H:%M") ;
TDatime sdate(20091031, 0);

hpres->GetXaxis () ->SetTimeOffset (sdate.Convert(), "gmt");

hpres->Draw("hist") ;

A3 PLO10ODODOOOOOO,o00000O0O0O0OOODODOO (%O
0)o, 0000000000000 (100310011040000)

#include <stdio.h>
#include <stdlib.h>

int main(void)

{



char uke[6] [715];

int NaI1[715],NaI2([715],PL1[715],PL2[715],PL3[715],1;

double a,b,c,d,e,f[715],g[143],h[715] ,kiatul[715] ,kionn[715],sum1=0,sum2=0, sum3=0;
FILE *fpin=fopen("sougoulgokei.dat","r"),*fpout;

if (fpin==NULL ) {
printf("Can not open a file\n");
return -1;

}

printf("File is opened\n");

if ((fpout=fopen("sougoulzure.dat","w"))==NULL) {
fclose(fpin);
printf("File is not maked\n");

return -1;

while (
(fscanf (fpin,"%s %d %d %1f %1f %d %d %d",ukel[i] ,&NaIl[i],&NaI2[i],&kiatuli],&kionn[i]

{
suml+=PL1[i];
sum2+=PL2[1i];
sum3+=PL3[i];
i++;
}
a=suml/715;
b=sum2/715;
c=sum3/715;

for(i=0;i<143;i++) {
f[i]=(PL1[i]-a)/a*100;
gli]l=(PL2[i]-b) /b*100;
h[i]l=(PL3[i]-c)/c*100;
printf("%s %1f %1f %1f %1f %1f  %1f\n",ukel[il] ,kiatulil,f[il,glil,h[il);
fprintf (fpout,"%s %1f %1f %1f %1f %1f %1lf\n",ukel[i],kiatuli],f[i],glil,h([il);

fclose(fpin);
fclose(fpout);



return O;

A4 PLO1OOOOOOODDOOPLOODOOOOODODODOOOO
O0&00)0,0000000000000000D0O0O00 (100
310011040000)

void data_plot_zure_kannsei(TString sdatafile) {
ifstream data(sdatafile.Data());
if ( data.bad() ) {
cerr << "No such a data file : " << endl;
return;
}
const int ndim = 143;
double hms[ndim],
press[ndim] ,PLizure[ndim] ,PL2zure [ndim] ,PL3zure [ndim] ;
for ( int 1 = 0; i < ndim; i++ ) {
hms[i] = press[i] = PLizure[i] =PL2zure[i] = PL3zurel[i] = -1;
}
// read data from a data file //
int n = 0;
while (1) {
data >> hms[n] >> press[n] >>
PLizure[n] >> PL2zurel[n] >> PL3zurel[n];
cout << n << endl;
if ( data.eof() ) break;

n++;
}
data.close();
cout << "# of data : " << n << endl;

// ROOT routines //
Double_t xmin, xmax;
xmin = 0; xmax = 86400%5;
TH1F *hpres = new TH1F("hpres", "PLlzure", n, xmin, xmax);
for ( Int_t i = 0; i < n; i++ ) {
hpres->SetBinContent (i+1, PLizure[i]);
cout << i << " " << PLizure[i] << endl;
}
gROOT->SetStyle("Plain");
TCanvas *cdata = new TCanvas("cdata", "", 50, 50, 600, 300);



// hpres->Draw("hist");
hpres->SetXTitle("press");
hpres->SetYTitle("PLizure (%)");

// 0000ooooo //
hpres->GetXaxis()->SetTimeDisplay (1) ;
hpres->GetXaxis () ->SetTimeFormat ("%H:%M") ;
TDatime sdate(20091031, 0);

//#if defined(R__MACOSX)

// hpres->GetXaxis()->SetTimeOffset ((sdate.Convert()+3600), "gmt");
//#else

hpres->GetXaxis()->SetTimeOffset (sdate.Convert(), "gmt");

// cout << "Here " << endl;

//#endif

hpres->Draw("hist") ;

//

// TGraph

//

TCanvas *c2 = new TCanvas("c2", "", 300, 50, 1000, 500);
TGraph *gp_vs_zure = new TGraph(n, press, PLlzure);
gp_vs_zure->Draw("ap") ;

gp_vs_zure->SetMarkerSize(1.0);
gp_vs_zure->SetMarkerStyle(24);

by

A5 O00O0PLOOOOOOOOOOOOOOO (1003100110
40000)

#include <stdio.h>
#include <stdlib.h>
#include <math.h>

int main(void)
{
char uke[6] [715];
int i;
double al[715],b[715],c[715],NaI1[715],NaI2[715] ,kiatul[715] ,kionn[715] ,PL1[715],PL2[715],P]
FILE xfpin=fopen("sougoul.dat","r"),*fpout;



if (fpin==NULL ) {
printf("Can not open a file\n");
return -1;

}

printf("File is opened\n");

if ((fpout=fopen("sougoulhosei.dat","w"))==NULL) {
fclose(fpin);
printf("File is not maked\n");

return -1;

while (
(fscanf (fpin,"%s %1f %1f Y1f %1f %1f Y1f %1f",ukel[i],&NaIli1[i],&NalI2[i],&kiatuli],&kionn[i]

sum+=kiatul[i];

i++;

’

k=sum/715;

for(i=0;i<715;i++) {
al[i]=PL1[i]*exp(0.000991723% (kiatul[il-k));
b[i]=PL2[i] *exp(0.000918384* (kiatul[i]l-k));
c[1]=PL3[i]*exp(0.00156582* (kiatul[i]-k));

printf("%s %1f %1f J1lf\n",ukel[i],ali],bli],cl[il);

fprintf (fpout,"%s %1f %lf %1f\n",ukel[il,alil,bl[il,cl[il);
}

fclose(fpin);
fclose(fpout);

return O;
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